1/0 do/dA

Ratio to OPAL

10?

10

0.5

91 GeV ee y*/Z (Hadronic)
| T T T T I I l ' | g
L _ 1o
- — >
— e
- =
~ [N
B I~
A\
. s
—
— __Od
— - E
— 1=
- ~%
= ke
— — ™
- <
L e p)
- o
o
(49)
- Hbs
m  OPAL Z
=~ -3~ Herwig 7.0.4 default 33
— —4— Pythia 8.170 default -5
- ¢ Sherpa 1.2.2p default <
| —¥-- Vincia 1.1.00_8.176 default — 8
)
S
s — O
= -] O
| | | I | ] — = =
| . : . . ! ' ! ' ' =
= —2
| B e 54__“ ‘-\--Qi ................ —4 — 1
L o '4':';-@-_--_--_--_--_--_--_--_--_--_--_--_--_--_--_--_--_--_--_--_--_-m N
| —0.5
| 1 1 1 1 | 1 " 1 1 1 |
0 0.05 0.1



	Contents
	Page 1


